Note: the best way to study for the tests is to:

· Start by reading the lecture notes twice (if you don´t, your study will be of a much lower quality).

· And then answer the weekly questions.

Reserve some hours (perhaps 4) every week to answer the questions. If you answer them properly, then you’ll need to study much less before for the tests. Students who choose not to answer the weekly questions seldom pass the course.

The answers of the questions of week 3 should be handed to me at the beginning of Thursday’s lecture of March 12th. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 3 in bold at the beginning of your answers.

Week 3
1.Imagine a company without debts. If the market value of a company’s stocks is higher than the replacement cost of the company’s assets, the expansion of the company’s capital stock through the issue of new stocks will increase the capital stock of the original stockholders.

      a) Why?

      b) In this setting, explain how monetary policy may stimulate aggregate demand.

2. Is Tobin’s q  able to account for the behaviour of stock and bond issues in the US: a a) Between 1925 and 1929? Explain.

a) Between 1929 and 1933? Explain.

3. The SP500 fell by 30% from March 2000 to Jan 2003. How can Tobin’s q help explain the 2001 US recession and the sluggish recovery that followed?
4. Why is the marginal propensity to spend on current consumption out of income likely to be greater than out of wealth?

5. a) Why isn´t the marginal propensity to make durable consumption expenditures out of wealth likely to be irrelevant?

b) Why isn´t the marginal propensity to purchase houses out of wealth likely to be irrelevant?

6. Explain the three reasons why the reinvestment of profits by a company makes banks willing to grant it  more loans.
…

7. What is AD? Which are its components?

8. Present the causal chain that leads from higher AD to higher inflation.

9. Explain the first channel through which an increase in central bank interest rates may reduce AD.

10. a) What’s the effect of an increase in CB’s interest rates on businesses’ profits? Explain.

b) Explain the various reasons why declines in profits may reduce business investment.

11. Explain the effect of an increase in CB’s interest rates the ‘disposable’ incomes of many families.
12.. Explain the third channel through which an increase in central bank interest rates may reduce AD.

13. List the main International Financial Investors. How do they invest the money?

14. Explain how an increase in CB’s interest rates may affect:

a) The value of a country’s currency.

b) AD.

c) Inflation – both through AD and the prices of imported goods.

15. Explain the four ways through which an increase in interest rates can have a negative effect on stock prices.
16. What is the effect of an increase in the Central Bank interest rate on house prices? Explain.

17. a) In which sense may we say that increases in house prices make home owners only nominally richer?
b) If that is the whole story, what should be the effect of increases in house prices on AD? Explain.
18. In which way did the doubling of US house prices between 2001 and 2006 lead to an increase in consumption?
